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Hangute owunoOKy



a)l6y-0,5y =80y






3)—x"y* - 1,4x°y° =1,4x"y’



4) — 1,6a’c- (— Dac’ ) = -22a°c’



5)b-aba+a’b” =a’b’ +a’b’ =

—2a°b’



6)—3,1y" +2,1y° —y° =2y°



7)=3m° +5m°® —8m°® +11m°® = 5m°



1 BapuaHT, 1 3agaHue

a)12y-0,5y = 6y’

2 BapuaHT, 1 3agaHue

a)1,5x-8x =12x"



1 BapuaHT, 1 3agaHue

6) 8x’ -(—%y} =6x"y

2 BapuaHT, 1 3agaHue

6)—a’ -4a’ =-4a’



1 BapuaHT, 1 3agaHue
3 2 R}
8)—n -3n" =—n

2 BapuaHT, 1 3agaHue

6)6y:| ==y |=—2y



1 BapuaHT, 1 3agaHue

3
2) nyz 16y =12y"x
2 BapuaHT, 1 3agaHue

2) %a 12ab” =8a’b”



1 BapuaHT, 1 3agaHue

0)1,6a°c (— 2ac’ ) =-32a’c’

2 BapuaHT, 1 3agaHue

0)0,5x> -(—xy)=—-0,5x"y



1 BapuaHT, 1 3agaHue

e)—x’y* - 14x°y’ =-14x"y

2 BapuaHT, 1 3agaHue

6

e)—0,4x"y”-2.5x"y" =—x"y



1 BapuaHT, 2 3aaHue

a)ab-ab

271 2 271 2
ab =a’b

a’b* =2a°b’

6)2m°® +5m° —8m°® —11m° = —-12m°

2 BapuaHT, 2 3ajaHue

Q) x2y2 +y-x-yx=x2y2 +x2y2 :2x2y2

6)2a-a°-3c+a -8c=6a’c+8a’c=14a’c



1 BapumaHT, 2 3agaHue
8)3c-8b-c> —c’-2b=24c’b—-2c’b =22¢b
2)12xy—3xy—-2yx=5yx

2 BapuaHT, 2 3ajaHue
6)1,9x° —2.9x° —x° =-2x

2)20xy+3Sxy—17xy =8xy



1 BapuaHT, 2 3afaHue
0)-3,1y" +21y" —y> =-2y°

e) 5x-8y2(—7x2)+ (— 6x3)-3y2 —

—280x’y” —18x’y* = -298x’y”
2 BapuaHT, 2 3aaHue

0)8ab” —3ab’ +ab> —Tab” =—-b’a

e)8x-3y-(=5y)-7x"-(—4y) =
=-120x"y” +28x"y" =-92x°y”



